
RUN 1 RESULT

value = 1 value = 1

L = 60

ALGORITHM = LOOP
SWEEPS = 50000

max = 1.5
min = 0

max = 0.22
min = 0

RUN 1
User: troyer
Start: 2010-11-28 14:54:36
End: 2010-11-28 14:58:38

LadderLattice
Input: 60
Output: Lattice
Start: 2010-11-28 14:54:36
End: 2010-11-28 14:54:36

Parameter J0
Input: 1
Output: value (1)
Start: 2010-11-28 14:54:36
End: 2010-11-28 14:54:36

Parameter J1
Input: 1
Output: value (1)
Start: 2010-11-28 14:54:36
End: 2010-11-28 14:54:36
...

RUN 2
User: bauerb
Start: 2010-11-28 15:19:05
End: 2010-11-28 15:25:21

LadderLattice
Input: 100
Output: None
Start: 2010-11-28 15:19:05
End: 2010-11-28 15:19:05

Parameter J0
Input: 1
Output: value (1)
Start: 2010-11-28 15:19:05
End: 2010-11-28 15:19:05
...
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